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1. Introduction
In current consensus of additional carrier types, two types of new carriers are considered to be supported [1].
Conclusion from RAN1#67: 
In the design of the new carrier type, support shall be provided for operation in both of the following scenarios (not necessarily equally optimized for both cases – take into account the gain that can be achieved):

· Synchronized carriers, i.e. where the legacy and additional carriers are synchronized in time and frequency to the extent that no separate synchronization processing is needed in the receiver.

· Unsynchronized carriers (i.e. where the legacy and additional carriers are not synchronized with the same degree of accuracy as for the synchronized carriers).

Note that synchronization is considered from the perspective of the UE receiver. 

This contribution discusses possible resource allocation methods for operation in scenarios, Synchronised carriers and Unsynchronised carriers.
2. Resource allocation in synchronised carrier
According to the definition above, a synchronised carrier can be seen as a carrier that is always associated with another carrier which is in the set of carrier aggregation of a UE. Possible deployment for synchronised carriers is quite limited. 
1. A synchronised carrier is adjacent to a component carrier and the synchronised carrier is always associated with the component carrier. 
2. A synchronised carrier is adjacent to two component carriers at its two sides in frequency and a UE must always aggregate one of the two component carriers during carrier aggregation. 
In either case, we can see as a synchronised carrier is always accompanied with a compatible carrier. Once a UE or eNB configures carrier aggregation, the compatible carrier should be added into aggregation cells alone or accompanied with the synchronized carriers. 
In this case, we propose that the resource allocation for synchronised carriers is always cross-carrier scheduled by the component carriers. It means that there is no PDCCH needed. 
Proposal #1: Resource allocation for synchronised carriers is always cross-carrier scheduled by the component carriers and there is no PDCCH on itself. 
3. Resource allocation in unsynchronised carrier

Unsynchronized carriers means that the legacy and additional carriers are not synchronized with the same degree of accuracy as for the synchronized carriers. UEs need to perform synchronization on unsynchronised. According to the current study/working items in Rel-11, two kinds of resource allocation for unsynchronised carrier can be considered. 
Alternative #1: Reuse cross-carrier scheduling scheme in Rel-10 for resource allocation on unsynchronised carriers.
Alternative #2: Apply ePDCCH to schedule resource on unsynchronised carriers.

4. Conclusions

This contribution discusses possible resource allocation methods for operation in scenarios, Synchronised carriers and Unsynchronised carriers. We propose: 
Proposal #1: Resource allocation for synchronised carriers is always cross-carrier scheduled by the component carriers and there is no PDCCH on itself. 
Proposal #2.1: Reuse cross-carrier scheduling scheme in Rel-10 for resource allocation on unsynchronised carriers.
Proposal #2.2: Apply ePDCCH to schedule resource on unsynchronised carriers.
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